ST 8 T 2043
Basic Level Education 2025
1famd 7ot Compulsory Mathematics

e (Class): 8 ‘Eﬁ@\? (Full Marks): 50
gaY (Time): 2 hours

| 5 AR S | Attempt all questions.

1) Sﬁ@UWATBEﬁWW‘ {TH S | Two sets A and B are

2)

presented in the Venn diagram. U
A) HYE A THYE B AT o1 GCUHT FHET 9 g1 ufe= 1 A B

@I’@:@'@[I Identify and write whether the sets A and B are overlapping

or disjoint? 1 mark

B) ®WE B W & SI{UIH ITAHE 3o TR | [lustrate improper

subset can be made from set B. 1 mark

C) U8 A THYE B A SEIHT el ATeT STH STHIEEE SIS

GfhUAT 2 How many maximum common proper subsets can be made from set A and set B? 1 mark
TShSHT HATShdeh! HTTGeh TTdl &, 43,689 B | 3! HITGeh sT<d TohH 4T @< 1o aIes B | The monthly salary of an officer
is Rs. 43,689. The expenditure amount is double of the saving amount in the month.

A) WWHWWWEF%WQ How much salary does he/she get in one year? 1 mark
B) I HIHE TASHIATE ToaSITIR HSEAT TGl AR THer | Convert the amount of monthly salary in the

quinary number system. 2 marks

O) RE[Y QEBW%WEF%WWT@:U How much amount did he/she save in a month? 2 marks

3) TS FFAITH! TR Hed &, 50000 B | THA It FFF Peded &. 42500 AT =T T 10% 16T TEf 5= | The mark

4

price of a computer is Rs. 50000. Ram bought it in Rs. 42500 after allowing discount and sold it with 10% profit.
A) SRR g2 (MP), T WA (D) T forsra 7 (SP) WT SP @18 MP T D I &1 W&ferd | If mark price (MP),

discount amount (D) and selling price (SP) is given, write to SP in terms of MP and D. 1 mark
B) U9 S W}?{HT%‘%W@? e ? WTFPTIT:@'F[I How much amount did Ram get discount in a computer? Find

it. 1 mark
C) WB?FEFF%?I e =T 2 WTFI"TI?T:@'{I How much did Ram sell the computer for? Find it. 1 mark

D) < GFFW B ThH T AThT A AT T@@E |Compare the discount amount and profit amount of the
computer. 1 mark
fa. . 2078 WWWHT&@'H’I'{ WW@\@T Bl S 0.93% B | According to the census of 2078 BS, the population

growth rate of Nepal is 0.93%
A) 093 w@qmm me@ml Write 0.93 is either rational or irrational number. 1 mark

B) 0.93 aﬁémﬁzsa@ﬂmwwﬁ@l{l Convert 0.93 into scientific notation. 2 marks
C) 0.93 TS =TT Tt TI—:E@'H\I Convert 0.93 into fraction. 2 marks
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5) feguenl femmr aner IqySHIT STaEhR STHd TAETH © | qHCE TS g3
T JSTE® 919 12 WA T20 §Hl. T o 6! 3915 10 S.H. B | In the figure, a

shape of semicircle is shown above the trapezium. The lengths of two parallel sides of

trapezium are 12 cm and 20 cm respectively with height of 10 cm. ==

A) HHIHE a@jaa?r SAH U FPTB%R:ET @'@\!ﬁ'{{l Write the formula for finding area 10em
of trapezium. 1 mark

B) WHcIH dg‘tl:vlchl &A®ST Il AMSTEH | Find the area of trapezium. 1 mark e

() Nﬁﬂﬂﬁﬁ BERTC] WWW A% Hicel HH AT TN S 2 TWHTT@@'{{I How many more or less than the area
of the trapezium than the area of semicircle? Calculate it. 2 marks

D) %WH@MWWW@?W %WW@H ? W@Wﬁg‘aﬁ'{l Are the areas of two
triangles formed by drawing a diagonal in a trapezium equal? Give a logical answer. 1 mark

6) A) I ANTTSHEER! 4. 4a’ — 9ab’ THH. (2a - 3b) B | Ul 3T (2 — 3b) WU Al SAfTT=SIH Hld To?
The LCM and HCF of two expressions are 4a’ — 9ab’ and (2a — 3b). If the first expression is (2a — 3b), what is the

second expression? 2 marks
x?-7x+12 _ x—4
B) WT@T‘[ Simplify: 3 - > 2 marks
7)  A) T TR TS IaTeAv a@ié 9 | Write an example of the quadratic equation. 1 mark

B)afim=2,n=3,p=13q=-2 9T TAb! ATkl I I=T 3:|Q%;PI\I Ifm=2,n=3,p=1andq=-2, find the

value of the following expressions.

mPxn? 2 marks
pmxqnt
8) Wgﬁaﬁ'{[ TftreRTor f3gThT ® | Two equations are given below.
xty=5andx-y=3
A) T ST T x Ty SRl A U= WTI?T:@?[I Find the value of x and y by using graphical method. 2 marks
B) TTfereRT HTHERTOTATS ST AERTOT 75 2 What equations are the above equations called? 1 mark
9) faguet fomr ABDE wmfgeng frust & | Sief AB/CD @ ZABD = 76T £/ BEF=x 1, .
In the adjoining figure, ABDE is an isosceles triangle. Where, AB//CD, 76"
ZABD =76"and /BEF =x. . : <
D e
A) T /ABD |1 SR @ TeHT=T hIUTRT 19 @'{9_:@"6[ | Write the name of alternate
angle equal with ZABD. 1 mark
B) x %I A %hid g ? T AMISJerd | What is the value of x ? Find it. 2 marks

Page 2 of 8



C) i HF AT GE3IT AHIGTg BIsTee aTs HHTgeTg PRSIt STTUT F1Tee Sier g=o, Wi SRiee e Tie |

Experimentally verify that the base angles of an isosceles triangle are equal by making two different size of

isosceles triangle.

10) o= AABC TAA'B'C' @1 H3wTTE s Tea S@TsUaI B |In the
figure, AABC and AA'B'C' are shown in the coordinate plane. 8

A) AABC TS % &1 & T AA'B'C' SHISEHI B ? | In
which axis is AABC reflected to form AA'B'C'? 1 mark ;
B) @I AB EB\TWTFUFITTI’:@'G[ | Calculate the length of line . 2

AB.

2 marks

C) & AT PrseTe 2giegd SIS "o ? o fIge |

Can a tetrahedron be made from an isosceles triangle?

Give reason.

3 marks

1 mark

11) femmn gamT=R =Gt ABCD 1 faeuie® AC TBD feirg E AT ITeUsI & | In the figure,
diagonals AC and BD are intersected at E on the parallelogram ABCD.
A)  FHFITEERT TN T THATR st ABCD 3 T T | i@, DC = 5 cm TBC = 4

cm AT ZADC = 120°% | Construct a parallelogram ABCD by using compass,

where DC =5 c¢m, BC =4 ¢cm and ZADC = 120°. 3 marks
B) ST e | Prove that : AABC= AADC 2 marks

12) dct 3T AT TS TR i AfeTent a1feeh @eent foemor faguahl © | In the table given below, the monthly

expenditure of a family of three months is given.

TfAT (Month) s 9 €. 1T (Amount of Expenditure in Rs.)
3I9TE (Baisakh) 24000
I3 (Jetha) 28000
TR (Asar) 20000

A) mferent HW'IE\WI’% EN Fersmr T T@@E | Represent the above information in the pie-chart.

2 marks

B) #ify feusk mﬁ?m ﬁﬂﬁ'@ém"@%ﬁ'ﬁl Calculate the average expenditure of three months of the

above data.

-The End-

1 mark
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D A)
B)
0

2) A)

B)

0

3) A)

B)

0

Marking Scheme of the model set-1
Sets A and B are overlapping sets
{1, 5}
2 common proper subsets made from set A and B. i.e. ¢, {1}
Yearly Salary = Rs. 524268
OR, Yearly Salary = 12 % 43689 = Rs. 524268
Dividing by 5 as follows:

43689 / 5 = 8737 with remainder 4
8737 /5 = 1747 with remainder 2
1747/ 5 = 349 with remainder 2
349 /5 = 69 with remainder 4

69 /5 =13 with remainder 4

13 /5 = 2 with remainder 3

2 /5 =0 with remainder 2

Thus, 436895 = 2344224,

X + 2x =43689

Saving amount in a month = Rs. 14563

SP=MP-D

Discount amount = Rs. 7500

OR, Discount amount = MP — CP = 50000 — 42500 = Rs. 7500
OR, Discount amount = 50000 — 42500 = Rs. 7500

SP = Rs. 46750

OR, SP = CP + 10% of CP = 42500 + 4250 = Rs. 46750

OR, SP =42500 x 1.1 =Rs. 46750

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark
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D)

4 A)

B)

&)

5)A)

B)

0

D)

6) A)

B)

7Y A)

Required Ratio = 30:17 or 17:30
OR, Discount amount is Rs. 3250 more than profit amount
OR, Profit amount is Rs. 3250 less than discount amount

0.93 is a rational number

93
093 =—r-
100

0.93=9.3x1071

Let x=0.9393 and 100x = 93.9393

0.93 = 3%
33

1
Area of trapezium = 3 (a + b) X h sq. unit

A=%(12 +20) X 10 =160 cm’
OR, A =160 cm’
Area of semicircle = 157.14 cm®

. nr?  22X10X10 5
OR, Area of semicircle = — = BEN ==157.14 cm

Area of trapezium is 2.86 cm’ more than area of semicircle
Yes, both have equal areas.

(42’ — 9ab’) (2a — 3b) = (2a — 3b)x 2" exp

2" exp = (42’ — 9ab”)

(x—=3)(x—4) % i
x—3 x—4

x2-7x+12 | x—4
x-3 2

=2

Any one example (eg. x2 + 5x + 6 = 0,x # 0)

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark
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mPxnd _ 21x372

B) gt x(o2)? 1 mark
== 1 mark

36
8) A) for correct graphical representation 1 mark

B) Simulteneous equations 1 mark

x=4andy=1 v 1 mark

9)A) ZABD=/BDE 1 mark
B) /BED=28° 1 mark
x =152° 1 mark
C) Two different shaped figures with naming 1 mark
Correct tabulation 1 mark
Obtained data by used protractor. 1 mark
10) A) Reflection on y — axis 1 mark
B) A=(-2,2),B=(4,5) 1 mark
AB =13 unit 1 mark

C) Nets of tetrahedron (anyone) 1 mark

AVAVA
Net 1 Net 2

11) A) Draw line DC =5 cm and ZADC = 120° 1 mark
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DA=BC=4cm . 1 mark

ABCD is a parallelogram P g 1 mark

B) AB=DC (S), ZB= /D (A), AC =

1 mark

AABC= AADC by SAS

12) A) Central Angles 120°, 140°, 100°

B) Correct pie chart (Expenditure in

three months) 1 mark
C) Average expenditure = Rs. 24000
= Baisakh = Jestha ™ Ashar =
OR, 24000+28(3)00+20000 — Rs. 24000
1 mark
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Test matrix of the model set

Areas Question Cognitive Level In the set Required
N no- K u A HA | Total |No. | Total | No.of
(16%) | (24%) | (40%) | (20%) | Marks | of Marks | Question
Items (Items)
1 Set 1 1 1 1 3 3 3 2(5)
2 Statistics 12 1 2 3 2 3
3 2 1 2+2 5 3
Arithmetic 3 1 1 1 1 4 4 14 3(10)
4 1 2 2 5 3
4 Mensuration 5 1 1 2 1 5 4 5 1(4)
) 6 2 2 4 2
Algebra 7 1 2 3 2 10 3(6)
8 1 2 3 2
6 9 1 2 3 6 3
Geometry 10 1 2 1 4 3 15 3(8)
11 3 2 5 2
Total 8 12 20 10 50 33 50 12(33)

Contributors: NEB Item Development Training Participants, Dang 2081, Mansir
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